MP 060

IS 62.75 (MP 060 1)
79.45 (MP 060 2)
25 96.16 (MP 060 3) 38
3.25 .25 3
14 | 20 | 5
‘\ |
|
= - —yI=TiE
— S — -+ 1358 MPO0601 | 1.2
ol 1Y MP0602 | 1.7
= = B MP 0603 | 2.0
i Ses =
ENER 1o
57.55 (MP 060 1)
74.25 (MP 060 2)
N5 90.95 (mP 060 3) 38
N3 3
3.5
20 1.5
\ \
NI
Z0o | I cl <o
Sls = =0 1 5|58 MP 060 1 1.2
i o Y MP 060 2 1.7
‘JE = % MP 0603 | 2.0
1 T =
) 52 +£0.05 10
Sd50 W
T % [
(e
o N N1 N2 | N3 N4 N5 | Lmax
4
min | max
6 635 7 8 9 952 - - — — - 25 39 56
6 635 7 8 9 952 - - - - - 26 39 56
6 635 7 8 9 952 - — - - - 28 39 56
6 635 7 8 9 952 - - - - - 30 39 56
6 635 7 8 9 952 - - - - - 32 39 56 65 3.5 4.5 25 25
6 635 7 8 9 952 - - - - - 34 40 56
6 635 7 8 9 952 - - - - - 36 42 56
6 635 7 8 9 952 - - - - - 39 45 56
6 635 7 8 9 952 - - - - - 40 46 56
6 635 7 8 9 952 10 11 12 127 - 38.1 66.6 60 3 M4x10 18 25
6 635 7 8 9 952 10 11 12 127 - 40 63 60 3 M4x10 18 25
6 635 7 8 9 952 10 11 12 127 - 50 60 60 3 M4x10 18 25
6 635 7 8 9 952 10 M 12 127 14 50 65 60 3 M5x12 23 30
6 635 7 8 9 952 10 11 12 127 14 50 65 65 3 5.5 25 32
6 635 7 8 9 952 10 11 12 127 14 | 50 70 60 3 M4x10 23 30
55MH 6 635 7 8 9 952 10 11 12 127 - 55 80 65 2 5.5 16 23
60A 6 635 7 8 9 952 10 11 12 127 - 60 75 65 3 M5x12 18 25
60AH 6 635 7 8 9 952 10 M 12 127 - 60 75 65 3 5.5 18 25
60A1 6 635 7 8 9 952 10 11 12 127 14 60 75 65 3 M5x12 23 30
60AH1 6 635 7 8 9 952 10 11 12 127 14 60 75 65 3 5.5 23 30
60B 6 635 7 8 9 952 10 11 12 127 14 60 85 75 3 M5x12 23 30
60C 6 635 7 8 9 952 10 11 12 127 14 60 90 75 3 M5x12 23 30
70A 6 635 7 8 9 952 10 MM 12 127 14 70 85 75 B M6x15 23 30
70B 6 635 7 8 9 952 10 11 12 127 14 70 90 75 3 M5x12 23 30
73A 6 635 7 8 9 952 10 M1 12 127 14 73 98.4 85 3 M5x12 25 32
80A 6 635 7 8 9 952 10 M1 12 127 14| 80 100 85 3 M6x15 23 30

Please contact us for other motor adapters and input shaft bore.

@ Bonfiglioli

1 1 6 Tecnoingranaggi



L1
L3 L2
[
- N
(o] O (=) Py £ Gy B o -
FM o SR = 1
7 S
vz ©
&y
—
D (\ D1 D2 D3 D4 D5 L1 L2 L3 L4 L5
6 6.35 7 32.5 50 42.5 M4x8 M4 20.2 13.2 3 8.7 8
9 9.52 10 325 50 42.5 M4x8 M4 20.2 13.2 3 7.8 9
1" 12 12.7 S515) 50 42.5 M4x8 M4 20.5 13.5 3 8.5 1
35.5 50 42.5 M4x8 M4 24 17 3 10.2 11.5

&J‘“Ti Mn2 | Ma2z  Mp2 Os  @Qr (of: Rimax R2max A2max
’ Nm

i [Nm] [Nm] farcmin] | Zremin

(N] (N] [N]

MP 060 1_3
MP 060 1_4
MP 060 1_5
MP 060 1_6
MP 060 1_7
MP 060 1_10
MP 060 2_9
MP 060 2_12
MP 060 2_15
MP 060 2_16
MP 060 2_20
MP 060 2_25
MP 060 2_28
MP 060 2_30
MP 060 2_35
MP 060 2_36
MP 060 2_40
MP 060 2_50
MP 060 2_70
MP 060 2_100
MP 060 3_48
MP 060 3_64
MP 060 3_75
R
MP 060 3_84
MP 060 3_90
MP 060 3_120
MP 060 3_125
MP 060 3_140
MP 060 3_150
MP 060 3_160
MP 060 3_175
MP 060 3_200
MP 060 3_210
MP 060 3_216
MP 060 3_250
MP 060 3_280
MP 060 3_350
MP 060 3_400
MP 060 3_500
MP 060 3_700
MP 060 3_1000

@ Bonfiglioli

Tecnoingranaggi 1 1 7



